
3 rd Year Secondary 
Practice Test No. (2) 

                    ----------------------------------------------------------------------------------------------- 
A –Language Functions 

1) Supply the missing parts in the following dialogue about Ayman and a salesman: 
Ayman: Excuse me. I'm trying to find a baggy shirt, size 17.  
Salesman: Sorry. We...................(1)................... 
Ayman: Do you expect to have this size next week? 
Salesman: No .......... (2)....But you can go to one of our  branches,  you may find it there.
Ayman:.................... (3)...................? 
Salesman: Our nearest branch is on Orabi Street. 
Ayman:...................(4)........................? 
Salesman: It is only about five minutes walk from here. 
Ayman: Thank you, sir. 

2) Supply the missing parts in the following mini-dialogues:  
a) Your friend doesn't know the meaning of an English word and asks you about it . 

Friend: ................. ( 1) .................................? 
You    : I don't know either. You can look it up in the dictionary.  

b) You feel it’s hot and ask your brother to open the window and he agrees. 
You: Do you mind opening the window? 
Brother:…………………. ( 2 ) ……………………... 

c) A motorist is asking a policeman to let him park in a no- parking area but the  
policeman refuses firmly.  

Motorist: ..........(3)...................................? 
Policeman: .........(4)...................................  

B- Vocabulary and Structure  
3) Choose the correct answer from a . b . c or d : 

1-You must.............precautions if you want to look at the eclipse.    
   a) take           b)make            c)do                        d) give 
2-Astronauts float in space because of zero.................. 
   a) degree       b)gravity          c)density                 d)humidity  
3 - The wind ...........…sail ships and boats for centuries. 
     a) was used   b) is used          c) has  used          d) used to 
4- You -------- take this medicine every day. 
     a) supposed   b) ought             c) should                d) obliged 
5- He became a successful businessman---------- ten years of hard work. 
     a) from              b) at                   c) through             d) by 
6- That building was constructed to --------- earthquakes.  
     a) withstand   b) stop                c) prevent             d) cancel 
7- He dreamt of being ------------- with money. 
    a) thrown        b) scattered         c) showered          d) abandoned         
8- I wish the weather ------------ fine now . 
    a) were            b) is                   c) had been          d) are        



9- Spacemen wear special clothes which ................. them from different  
    climatic conditions . 

a) protest         b) prevent         c) produce            d) protect 
10- By and ...................., I agree with what you are saying.  

a) large            b) big                c) huge                 d) vast  
11- She asked me what time ....................... 

 a) the match began.                   b) did the match begin? 
 c) had the match begun?           d) would the match begin?  

12- He didn’t pass his exams. He ................ worked hard.  
a) must have      b) needn’t have  c) should have   d) may have 

13- Cairo University is .................. courses in nearly all subjects. 
     a) doing             b) making           c) running          d) carrying 
14- When she heard she got the first prize, she was ............. the moon.   
      a) under         b) at                     c) above             d) over 
15 – The juice smelt ......................... 
       a) bad         b) badly          c) too much badly      d) very badly  
16- I visited my friend and .............. I went shopping. 
   a)after         b)afterwards   c)when                       d)until 

4) Rewrite the following sentences using the word(s) in brackets to give the same meaning :
1- He is too short to play basketball.                                            (so ......that) 
2- The police couldn't prove that he robbed the bank.                     (proof) 
3- It’s impossible that he didn’t attend the important meeting.        (have) 
4- I wonder how much money my father will give me.                    (given)  
5- He was very ill. That was why he didn't attend the party.          ( Unless)  

C) Reading Comprehension 
5) Read and complete the table: 

   The increase in the prices of oil has brought the world to its senses. Governments are searching  
for a suitable alternative, but so far in vain. They are considering how they can make better use  
of the two other major fuels, coal and natural gas, but they have found that neither of them can 
take the place of oil in their economies. In recent years there has been a growing concern for the  
environment and coal is not a popular fuel with environmentalists. Coal mines are ugly and their 
 development has a serious effect on animal and plant life; coal itself is a heavy pollutant. Natural  
gas, the purest of three fuels, is also the most limited in supply. 

 
 Advantages  Disadvantages 
Oil ……….(1)………. ………..(2)………. 
Coal ……….(3)…………. ………..(4)………. 
Natural gas ………(5)………… ……….( 6)…….. 

  
:then answer the questions, age Read the following pass)6

          Some children have difficulties with their bones or their muscles. They may not be able to walk 
or talk or write in the same way as other children. These children are physically handicapped. But 
with some help they can go to school and study the same subjects as their friends and take the 



same examinations. 
     Other children may not be physically handicapped but may have difficulties in thinking and  

reasoning. These children are mentally handi- capped. With these children two things are important: 
Firstly their family has to accept that the child has a handicap and secondly society has to agree  
that these children need special schools. 
In these schools the children can be taught how to live their own lives; this is called learning 
social skills. They learn how to do simple things like find their own clothes, dress themselves, 

 hold a paintbrush. The lessons are not like those in other schools. Students may make a 
shop as part of a lesson in order to learn about money and how to count. Many parents think that 
after a few years their child will get better. The problem is that a physical or mental handicap is  
not like an illness from which it is possible to recover. If these children can learn to look after 
themselves and live at ease with other people, the school and the teacher will be successful. 
A) Answer the following questions: 

1- What kind of activities may physically handicapped children have difficulties with?    
2- What are the two important things when arranging the education of handicapped children? 
3- Why should there be special schools for such children? 
4- Find words which mean: 
    a) in relation to the body.        b) to get well 

B) Choose the correct answer from a, b, c or d: 
5- It is .............. to recover from a physical or mental handicap. 
    a) possible   b) impossible     c) probable       d) easy 
6- A teacher in a special school can say that he or she has been 
     successful when the handicapped children can................. 
    a) look after themselves only       b) dress themselves only 
    c) live at ease only                        d) look after themselves, and live at ease with other people. 
7-The underlined word refers to ............................ 
     a)friends     b)people   c) handicapped children    d) teachers 

D-The Novel  
7) A. Answer the following questions : 

1- Why did Leila take up archaeology? 
2- Why didn't Leila like traveling by air? 
3- Show how Lander was a liar and deceitful. 

:Read the following quotation and answer the questions) B  
" I'll put you in the safe ." 

     1 -Who was the speaker? To whom? 
2 -What was he speaking about? 
3 -What happened to that thing the next day? 

:the sentencesComplete ) C 
1- The police thought Leila was the robber of the gold mask as................................. 
2- Leila and Amelia didn't get along well with each other though they…………….. . 
3- Samira was enthusiastic ………………………….. 

  
 



 Writing-E 
 

8)Write not less than 10 lines on the following: 
         " People travel more nowadays" 

Guiding words: 
Education – tourism – treatment – post-graduate studies – work- business 

F- Translation 
9)A - Translate into Arabic : 

Increasing population means more houses , more roads, more factories  
and this means less land for animals and plants. More people also means   
increased waste and pollution, and this makes life increasingly difficult for 
 many creatures. 
B - Translate into English : 

  . تطویر التعلیمفيیعتبر المعلم حجر الزاویة                 
  
  
 

Answers2 Test  
Language Functions) A( 

 :Supply the missing parts in the following dialogue) 1 
1- We don't have this size.   
2- No, we don't.                                                                 
3- Where is your nearest branch?  
4- How far is it?                                            
2) Supply the missing parts in the following mini- dialogues: 
 1- I don’t know the meaning of this English word. Do you know it's meaning?  
 2- No, you can open it.  
 3- Can you let me park my car here?  
 4- No, it isn't allowed.   

Vocabulary and Structure-B 
:c or d . b .  Choose the correct answer from a -3  

1-(a)take  2-(b)gravity 3-(c) has been used  4-(c)should  
5-(c) through   6-(a) withstand  7- (c) showered                   8-( a) were  
9-(d) protect  10-(a) large        11-(a) the match began        12-(c) should have                            
13-(c) running 14-(d) over       15-( a) bad                           16-( b) afterwards  
4) Rewrite the following sentences using the word(s) in brackets to give the same 
meaning : 
1- He is so short that he can't play basketball.   
2- The police couldn't find proof that he robbed the bank. 
3-He must have attended the important meeting. 
4- I wonder how much money I will be given.  
5- Unless he had been very ill, he would have attended the party. 
     

 
 
 
 



                                              
C) Reading Comprehension 
5) Read and complete the table: 
                      Advantages                         Disadvantages 
Oil      (1) Major source of energy.         (2) The increase in the prices   
Coal    (3) alternative source of energy.  (4)Coal mines are ugly and their development has a  
                                                                     serious effect on animal and plant life; coal itself is a   
                                                                         heavy pollutant.  
Natural gas (5) the purest of three fuels (6) the most limited in supply. 

:stionsthen answer the que, Read the following passage) 6 
A) Answer the following questions: 
1- They may not be able to walk or talk or write in the same way as other children. 
2- Firstly their family has to accept that the child has a handicap and secondly society has 
to agree that these children need special schools. 
3- to help them learn social skills. 
4-    a) physically        b) recover. 
B) Choose the correct answer from a, b, c or d: 
5-   b) impossible     
6-   d) look after themselves, and live at ease with other people. 
7-  c) handicapped children     
D-The Novel  
7) A. Answer the following questions : 
1- Because she used to listen to Doctor Hafez who was a friend of her family. He used to 
tell them about his discoveries and she wanted to be like him.  
2- Because she became nervous when the plane took off and even more nervous when it 
landed.  
3- He lied to Leila when he told her that he was a mining engineer. He deceived Amalia's 
father and persuaded him to put all his money in a silver mine but there was no mine.  

:nd answer the questionsRead the following quotation a) b  
" I'll put you in the safe ." 
2- -Pablo to Doctor Hafez.             
3- He was speaking about the mask of gold.. 
4- It disappeared. It was stolen by Martin Lander. 
c) Complete the sentences: 
3- they found a little gold rabbit among her work clothes.         
4- though they were about the same age and they were both archaeologists.  

3- she was always looking for good articles for her newspaper. 
 

F- Translation 
9)A - Translate into Arabic : 

وتعنى الزیادة . تعنى الزیادة السكانیة منازل أكثر وطرق أكثر ومصانع أكثر وھذا یعنى أرض أقل للحیوانات والنباتات
. وھذا یجعل الحیاة أكثر صعوبة لكثیر من المخلوقات. السكانیة أیضا زیادة المخلفات والتلوث  

B - Translate into English :  
The teacher is considered the cornerstone in education development. 

  
  


